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0 0.05

h

#.045
>
20.04
f=
Q

‘®.035

%

0.03
0.025
0.02
0.015
0.01

L LN N LR UL LN L) LR LR LA LR

096 1T 17 13 14 15 16 17 18 19 20

TP hits

—=— DQM_TT__originalREDO100
—e— DQM_TT__originalREDO100f

I Efficienc| =—— DQM_TT__originalREDO100fb3

00.05

[
.045
20.04
3
9.035
ks)
£0.03
[}
0.025
0.02
0.015,
0.01
0.005,

Efficiency vs pixel layer

10 12 14 16

18 20 22 24
TP layers

0 0.02p
018|
016
014
o12F
0.01F

_C,efficier_zgy ) pigl Igye

0.006
0.004

o

Ratio

Efficiency vs 3D layer

4 5 6 7 8
TP pixel layers

0.0
018
016
014
012)
0.0]
008|
0.006
0.004
002

o efficiencyys 3D laye

o

1.8

Ratio

6.5

75 8 85 9 95 10
TP 3D layers




	Contents
	Page 1


